@ /POQ @ Q0P @ 40°

@ /0 @AP

/POQ = /QOP = /0 = 40°




2.

oA LAOC 7} £COB ¢ 3 v of,
(AOC 9] 2715 F35}ogt,

>
> ®e:. 135 °

/AOC =3 /COB °]2& 4/COB = 180°
wrehA] LCOB = 45° o[t}
- LAOC =135°




3. o5 1904 LAOB 9] 2715 3x - 20° 2t & o «x 0] 27| 5t

SE
B
, 32-20] C
A O\70°
D
- .

[ 2
> ®eh: 30°

€8 ~
TE2)Zke] 971 A2 Zorug /COD = AOB = 70° o|t}.
whabA] 70° = 3x — 20° ©]ct.
3x = 90°
oo /x = 30°




ohg 2 Zo] £ Aol @ WA W o) 471k 2EAZ

o
= 1

o~

@ 0% @ 1% @2’%} @ 3% ® 4%




oS 138 9] AtttE]&E ABCD oA oS = -3cm-~- D
7] 2 A7 Y
dem

@ A A ¢ BC Al A= 4em O]t
@ A B 2t CD Ate] €] A= 5¢m O]t
® A BollA CD ol e =40 He 3 C o]t

= =




Rz

130°

100’

20°

30°




7.

e 2™olA 2x o] 2717

3z+6°

@20 @20 @3 @ o

® 25°

(3x 4+ 6°) + x = 90°
4x = 84°
L /x = 21°




8., O dHANA sx:zy:z2=2:9:1<L M, zy—zx & 327

@® 90° @ 100° (@)105" @ 110° ® 120°

&8

9
/y = 180° x i 135° o]t}

2 2
/x=/yx —-=135°x = =30°
Ty 9

wabA] sy — /x = 135° - 30° = 105° ©|t},




9. the 2FelA ux o 2712 Falolat,

130°
> = °
[> Hehl 40°

130° = 90° + 4x
ooLx = 40°




@)
@)
®
el
o
ol
o8
= .
! . T 0 @®
G T2 oy Q@ ®
=~ . N o) '
& FEx % @o
7 oS
‘a_u E._O _m,A U_A E._O
M a0 Al A )
wu_m o T 3 3% @)
B o o o -
5 339 909
X © ©
=
Mﬂ ml,. © Q@ 0O ® o ©




11. o= 3NN 1/ m D o, 2x-2y & A71E Mao"

e

25°

/7

o

cCh "
| —

| 2
> =g 35°

£x =180°-60°=120°
Ly =25°+60°=285°
L /x—/y=120°-85°=35°




12. o5 J3”NM 1//m 4 ™, 2x & 27]1E F-5Fef2th

l

>
> ®EH 100°

L Lx = 25° 4 75° = 100°




13. o2 I8 1//m D o, 2x 9] Ft-& ool

25° 1

>
> ®eh: 55°

25° 1

o Lx = 25° 4 30° = 55°




14. o= J™-ANA 1/ /mL W, 2x 8] 27127

SN z

® 30° @ 31° @32° @ 33° ® 34°

79° — x +49° = 3x, 4x = 128° O|B2 /x = 32°0|T},




15.

e 2FAA 1/ fm D, 2x - 2y ] 7
29

25
Y
M 20° @ 30° @400 ‘ 65°
@ 50° ® 60°
AP, QE AU, F AL L mo] YT A JojHH

Ly —25°=/x—-65°
Lo Lx— Ly =40°




16. oL 294 LAOC = 4/.COD , /DOB = 5/DOE Y 1, /COE 9]
37]& F-otof=t

>
o
wel )

iy
o

>
> =t 36°

/AOC = 4,COD ©]2& /AOD = 5,COD ©]t}.
/AOD + /DOB = 500D + 5/.DOE

= 5(2COD + «DOE)

= 5/COE = 180°

. .COE = 180° + 5 = 36°




17.

ke 1HOlA 2y O 271=7

22—30°

3 z+20°
3x+10

O 90° @100° @ 110° @ 120°

® 130°

B

k=7 2}o] 420 ol
(x+20°) + (2x — 30°) + (3x + 10°) = 180°
6x = 180°

oo Lx = 30°

. Ly = 3x+10° = 3 x (30°) 4+ 10° = 100°




18. th& 1¥oA AB//CD, AD//BC ©]1, /BCE = /DCE ¥4 o}, /x
o] 37]& st

\4
L
o

/ADC + /DCB = 180° 9| A]
/BCD = 180° — (26° + 42°) = 112°

/BCE = %[BCD = 56°
coZx = 180° — 56° = 124°




19. o J™-A 1)/ mE W, 2x°] 27]5 Fstoiet

03 l

\4
L
o

> Hehl 18°

AB = BC = CA o]B2 AABCE A&z ol
7] 60° o]t}
/ABC = /ABD + /CBD = 42° + x = 60°
o /x = 18°
A
. !
_B D
M
C m




20.

oh& 197} 2ol CB// DA 1 %] Elo]x
£ (ABC = 65° 7} H =5 ek o] o,
2x ©] 2715 Fatelat.

i
o

>
> =t 50°

DR o] 994 919] 42 E 2t 514 LCBA = /BAE = 65° (A
2

/CAB = /BAE o|2&

x+ LCAB + /BAE = x + 65° + 65° = 180°,

. Lx = 50°




